NCERT SOLUTIONS CLASS-8 MATHS
CHAPTER-14 EXERCISE-14.4

Question 1:

Find the error in the following statement and correct it: 5(a — 4) = 5a — 4
sol.

LHS.=5@-4)=5a-20#R.H.S.

Hence, the correct statement is 5a — 20.

Question 2:

Find the error in the following statement and correct it: a(3a + 2) = 3a2 +2
sol.

LH.S.=a(Ba+2)=3a?+2a#R.H.S.

Hence, the correct statement is a(3a + 2) = 3a2 + 2a.

Question 3:

Find the error in the following statement and correct it: 2a + 3b = Sab
sol.

LHS. =2a+3b#R.H.S.

Hence, the correct statementis 2a + 3b = 2a + 3b.

Question 4:

Find the error in the following statement and correct it: a + 2a + 3a = 5a
sol.

LHS =a+2a+3a=6a#RH.S.

Hence, the correct statement is a + 2a + 3a = 6a.

Question 5:

Find the error in the following statement and correctit: 5b +2b+b-7b =0
sol.

LHS. =5b+2b+b-7b=b#R.H.S.

Hence, the correct statementis Sb+2b+b~7b =b.

Question 6:

Find the error in the following statement and correct it: 3a + 2a = 5a2

sol.
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LHS.=3a+2a=5#RHS.

:
Hence, the correct statement is 3a + 2a = 5a. ST

Question 7:

Find the error in the following statement and correct it: (2a)2 +4(2a)+7 = 2a+8a+7

sol.
LHS.=(2a)? +4(2a)+7=4a2+8a+7 #R.H.S.

Hence, the correct statement is (2a)? + 4(2a) + 7 = 4a? + 8a + 7.

Question 8:

Find the error in the following statement and correct it: (2&1)2 +b5a=4a+5a=9a

sol.
LH.S. = (2a)2 + 5a=4a% + 5a # R.H.S.

Hence, the correct statement is (2a)2 + 5a = 4a? + 5a.

Question 9:

Find the error in the following statement and correct it: (3a +2)2'= 322+ 6a + 4
sol.

LHS. =(3a+2)2=(3a)2+2x3ax2+(202=9a2+12a+4#RH.S.

Hence, the correct statement is (3a + 2)2 = 9a2 + 12a + 4.

Question 10:

Find the error in the following statement and correct it:
Substitutinga =-3 in:

i) a2 + 5a + 4 gives 15

ii) a2 — 5a + 4 gives -2

iii) a2 + 5a = -24

sol.

)LHS.=a?+5a+4

Substituting a= -3,

= (-3)?+5(-3) + 4

=9-15+4



=-2#R.H.S.
[ cvamoniion

Hence, a2 +5a+4=-2,

iifLH.S.=a2-5a+4
Substituting a= -3,
=(-3)2=5(-3) + 4
=9+15+4
=28#RHS.

Hence, a2 —5a + 4 = 28.

iilL.H.S. = a2+ 5a
Substituting a= -3,
= (32 +5(:3)
=815

=6 #R.H.S.

Hence, a2+ 5a=-6.

Question 11:

Find the error in the following statement and correct it: (b — 3)2 =pZ-9,

sol.
LHS. =(b-32=b2-2xbx3+(3)2=b%2-6b+9#R.H.S.

Hence, the correct statement is (b — 3)2 = b2 —6b + 9.

Question 12:

Find the error in the following statement and correct it: (c + 5)2 =c2 +25.

sol.
LHS. =(c+52=c2+2xcx5+(52=c?2-10b+25#R.H.S.

Hence, the correct statement is (¢ + 5)2 = ¢2 — 10b + 25.

Question 13:

Find tha arrar in the fallawina statament and rarract it (v + Uiy — ) = 2v2 — 22
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sol.

LHS. =2x+3y)(x—-y)=2X(x—-Yy) + 3y(x —¥)

=2x% —2ab + 3ab—3b%=2a? +ab-3b2 #RH.S.

Hence, the correct statement is (2x + 3y)(x — y) = 2a2 + ab — 3b2.

Question 14:

Find the error in the following statement and correct it: (x + 4)(x + 2) = X2 + 8.

sol.
LH.S. = (x + 4)(x + 2) = X(x +2) + 4(x + 2)
=x2+2x+4x+8=x2+6x+8#RH.S.

Hence, the correct statement is (x + 4)(x + 2) = 2a2 + x% + 6x + 8.

Question 15:

Find the error in the following statement and correct it: g—ii =={)
sol.

LHS =& = 3=1#RHs.

2
Hence, the correct statement is % —=l

Question 16:

2
Find the error in the following statement and correct it: 32_;{1 =1+1=2

sol.

_3+1 32 | 1 1
LHS. === =35 4 -5 =1+ -5 #RHS.
3z24+1 1

Hence, the correct statement is s 2
32 3x?

Question 17:

. . . 4 3z _ 1
Find the error in the following statement and correct it: 213 — 3
sol.

oy B
LHS. = T3 #R.H.S.

f 3 _ 3z
Hence, the correct statement is T3 = Bz43
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Question 18:

Find the error in the following statement and correct it: 4:“13 = 4—11,
sol.

LHS = 22 #RHS.

Hence, the correct statement is ﬁ — ﬁ.

Question 19:

Find the error in the following statement and correct it: 45;15 =ib
sol.

LHs =28 -2 1 5 —14+F #RHS.

Hence, the correct statement is 4:;;% =1+ % ’

Question 20:

Find the error in the following statement and correct it: L PR Tx

5

sol.

_Tz+5 Tz J
L.H.S.—T—?—F—g—?—f—l #R.HS.

Hence, the correct statement is Txf = ?—g +1.






